JL_

Finding Midpoint Based on Coordinates Name:
Find the midpoint of the set of coor dinates. Answers
4 Midpoint Formul N\
( Idpoint Formula Themidpointisat(6®
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
formula . 3,
11, 4+8  5+1 SH
1
: (4,6)&(5,4) >
2) 6.
(8,4)& (10,10)
7.
3)
(6,10)& (0,0)
8.
4)
(0,6)&(1,10) )
5
: (0,5)&(6,2) 10.
6) 11.
(3,5)&(8,1)
12.
7)
(2,1)&(3,7)
8)
(9.4)&(9,4)
9)
(1,1)&(9,10)
10)
(3.3)&(0,6)
11)
(0,0)&(0,0)
12)
(0,8)&(10,7)
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ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (4.5’5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. 9,7)
? and (8,1), plug the values into the midpoint S
formula. . 3 (3,5)
O > 4+8 5+1 )
\_ 2 ., 2 >J||+ _ (05,8
) (4,6)&(5,4) 4;5,6;4) = (45,9 5. _(3,39)
6. (5.5, 3)
2) (8.4)& (10, 10) (8+210’4+210) - 9.7
. (25,9
3) 6+0 10+0 ! (
(6,10)& (0,0) ) = (3,5) © 4
8. y
Y (0.6)&(1,10) (L2 6+10) - (05,9) o (5,55)
5) (0.5)&(6,2) 0;6’5;2) - (3,35 10. (1.5,45)
1. (0,0
® (3.5)8 (8 1) 3;8,5;1) - (55,3)
. (5,7.5)
D (2.1)8(3.7 2317y - 5.4 1
(2,1)&(3,7) (5 ) = @5.9
8) 9+9 4+4 B
(9,4)&(9,4) R ) = (9,4
9) 1+9 1+10 \ _
(1,1)&(9,10) R ) = (5,5.5)
10) 3+0 3+6 a
(3,3)&(0,6) S ) = (15, 45)
11) 0+0 0+0 B
(0,0)&(0,0) (- ) = (0,0)
12) 0+10 8+7 B
(0,8)&(10,7) ( IR ) = (5,75)
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JL_

Finding Midpoint Based on Coordinates Name:
Find the midpoint of the set of coor dinates. Answers
4 Midpoint Formul N\
( Idpoint Formula Themidpointisat(6®
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
formula . 3,
11, 4+8 5+1 SH
1
: (1,7)&(2,2) >
2) 6.
(3.4)&(6,4)
7.
3)
(5.8)&(0,4)
8.
4)
(2,1)&(4,2) 9
5
) (9,.2)&(6,6) 1o
6) 11.
(7,6)&(8,8)
12.
7)
(1,0)&(4,5)
8)
(2,5)&(1,5)
9)
(4,4)&(1,7)
10)
(5,7)&(1,1)
11)
(0,6)&(9,4)
12)
(6,7)&(6,5)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers

/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (1.5,4.5)

2 ., 2
To find the midpoint of the coordinates (4,5) 2. (45,4)
? and (8,1), plug the values into the midpoint S
formula. . s (25,6)
11, 4+8  5+1 )
\_ 2 ., 2 > )|+ (3,19
Y (1,7)&(2,2) (1;2,7;2) = (15,459) s. _ (1.5,4)
, 15,7
D (3 4y8 (6.4) (3;6’4;4) s 6. ( )
) . (25,25)
3 5+0 8+4

(5,8)&(0,4) ( s ) = (25,6) . (15.5
4) 2+4 1+2 \

(2.1)&(4,2) (- ) = @.19 o. (25,5.5)
V9208066 (°E°0) = (5.9 0. (3.4)
6) 7+8 6+8 \ _ 1. (45,5)

(7,6)&(8,8) ( R ) = (75,7) 66
7 (1.0)&(a.5 1+40%5 Y _ 25 25 ; |

(1,00&(4,5) (= ) = 25.29
8) 2+1 5+5 y _

(2,5)&(1,5) ( > ) = (15,5)

9) 4+1 4+7 B

(4.4)&(1,7) (-~ ) = (25,59
10) 5+1 7+1 a

(5,7)&(1,1) ( S ) = (3,4)

11) 0+9 6+4 B

(0,6)&(9,4) ( S ) = (45,5)
12) 6+6 7+5 B

(6,7)&(6,5) ( BT ) = (6,6)
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C:# Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve Anai N\
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
3
formula . 3,
11, 4+8 5+1 SH
1
) (7,10)& (1,8) 5.
2) 6.
(2,10)&(2,9)
7.
3)
(5,4)&(1,7)
8.
4)
(3,0)& (3,10) 9,
5
) (2,10)&(0,4) 10.
6) 11.
(7,7)& (2,10)
12.
7)
(1,6)&(4,8)
8)
(9,.7)&(1,5)
9)
(2,5)&(1,8)
10)
(0,10)&(6,1)
11)
(9,9)&(0,7)
12)
(5.4)&(2,8)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
4 Midpoint Formul o N\
( xll filzn ;IT;Za T‘r:emldpomtlsat(GQ L (4,9)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (2,9.9)
? and (8,1), plug the values into the midpoint S
formula . 3 (3,5.5)
11, 4+8  5+1 )
g 2 . 2 >Jll+ _ (3,9
Y (7 10)&(1.8) (7+1 10+8 ) = @9 5. (1,7
6. (4.5,805)
? (2,10)&(2,9) (3222) = @99
7 (25,7)
3) 5+1 4+7 \ _
(5,4)&(1,7) ( S ) = (3,55) ) 5 6
4
) (3,0)&(3,10) = (3,5) o (15,65)
5) (2,10)& (0,4) (2+0 10+4 ) = (1,7) 10. (3,55)
1. (45,8
® (7,7)& (2,10) (7+2 7+10 ) = (45,85)
. (35,6)
D (1.6)8(a.8 1+408+8 Y _ 5.7 1
(1,6)&(4,8) (—F—— ) = @5.7
8) 9+1 7+5 \ _
(9,7)&(1,5) R ) = (5,6)
D (2578 (1.8 2+15*8 Y _ 15,65
(2,5)&(1,8) (-~ ) = (15,65
10) 0O+6 10+1 a
(0,10)& (6,1) s ) = (3,55)
11) 9+0 9+7 B
(9.9)&(0,7) (-~ ) = (45,8
12) 5+2 4+8 B
(5,4)&(2,8) (5 ) = (35.6)
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C:# Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve Anai N\
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
formula . 3,
11, 4+8  5+1 SH
1
: (8,4)&(8,4) 5.
2) 6.
(4,4)&(0,9)
7.
3)
(7,1)&(7,5)
8.
4)
(2,0)&(2,6) 9
5
: (4,8)&(5,1) 10.
6) 11.
(1,7)&(3,8)
12.
7)
(2,6)&(2,1)
8)
(7,2)&(5,1)
9)
(9.8)&(7,4)
10)
(2,9)&(3,5)
11)
(7,1)&(6,1)
12)
(10,2)& (4,1)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (8,4)
2 2
To find the midpoint of the coordinates (4,5) 2. (2,6.9)
? and (8,1), plug the values into the midpoint S
formula. . 3 (7, 3)
11, 4+8  5+1 )
g 2 . 2 I+ (2,3
1) 8+8 4+4 : 45,45
(8,4)&(8,4) ( S ) = (8,4) 5. | )
, 2,75
2 (4,4)&(0,9) (420,4;9) = (2,6.5) o )
| 7 (2,35
3 7+7 1+5
(7,1)&(7,5) ( S ) = (7,3) . (6.15
4) 2+2 0+6
(2,00&(2,6) ( BT ) = @3 o (8,6)
> (4.8)&(5.1) (4;5,821) - (45,45 . (25,7)
1. (65,1)
¥ (1.7 (3.8) (222 = @y
) 1. (7,15)
2+2 6+1
(2,6)&(2,1) ( R ) = (2,35)
8) 7+5 2+1 B
(7,2)&(5,1) ( R ) = (6,15)
9) 9+7 8+4 \ _
(9,8)&(7,4) ( R ) = (8,6)
10) 2+3 9+5 a
(2,9)&(3,5) ( TR ) = (25,7)
11) 7+6 1+1 \ _
(7,1)& (6,1) ( T ) = (65,1)
12) 10+4 2+1 B
(10,2)& (4,1) ( 5 ) = (7,15)
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C:# Finding Midpoint Based on Coordinates

Name:
Find the midpoint of the set of coor dinates. Answers
Ve DR N
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
formula . 3,
11, 4+8 5+1 SH
1
: (6,.2)&(2,3) >
2) 6.
(10,1)&(8,4)
7.
3)
(4,6)&(5,0)
8.
4)
5
: (2,7)&(1,4) 10.
6) 11.
(3,2)&(5,1)
12.
7)
(3,1)&(10,7)
8)
(1,2)&(0,6)
9)
(2,0)&(7,1)
10)
(5,4)&(0,2)
11)
(2,5)&(6,2)
12)
(5,1)&(9,2)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (4’2.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (9,259)
? and (8,1), plug the values into the midpoint S
formula. . 3 (45, 3)
O > 4+8 5+1 )
\_ 2 )|+ (35,4
1) (6.2)8(2.3) 6;2’2;3) - .25 5. (1.5,5.5)
&, (4,15)
2 (10,1)& (8, 4) (10;8,1;4) = (9,25)
. (6.5, 4)
3)46&50 445 6+0 = (45,3) 7
4) 3+4 8+0
(3,8)&(4,0) R ) = (35, 4) o (45,05)
7 (2,7)8(1,4) 2% = as.s9) 0. (25,3
11. (4,35)
® (3.2)8 (5 1) 3;5,2;1) - (4.15)
1. (7,15)
L (3,1)& (10,7) (3+210,1;7) = (65,4)
8) 1+0 2+6  _
(1,2)&(0,6) R ) = (0.5, 4)
9 2+7 0+1 B
(2,0)&(7,1) R ) = (45,05)
10) 5+0 4+2 a
(5.4)&(0,2) > ) = (25,3)
11) 2+6 5+2 B
(2,5)&(6,2) T ) = (4,35)
12) 5+9 1+2 B
(5,1)&(9,2) R ) = (7,15)

1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




JL_

Finding Midpoint Based on Coordinates Name:
Find the midpoint of the set of coor dinates. Answers
4 Midpoint Formul N\
( Idpoint Formula Themidpointisat(6®
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
formula . 3,
11, 4+8  5+1 SH
1
: (4,10)&(4,1) >
2) 6.
(10,6)&(5,9)
7.
3)
(9,10)&(7,0)
8.
4)
5
) (3,9)&(9,3) 10.
6) 11.
(2,3)&(4,2)
12.
7)
(5,0)&(8,8)
8)
(1,9)&(2,5)
9)
(2,4)&(5,10)
10)
(4,1)&(2,10)
11)
(1,4)&(6,5)
12)
(10,10)& (1,1)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (4’5.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. _(15,7.5)
? and (8,1), plug the values into the midpoint S
formula. . 3 (8,5)
O > 4+8 5+1 )
g 2 . 2 >Jll+ _ (3,3
1) (4.10)& (4,1) 4+4 1o+1) - &.55) c (6, 6)
6. (3,25
2 (10,6)& (5,9) (10+5 6+9 ) = (7.5,75)
7 (6.5, 4)
3) (9.10)& (7.0) 9+7 10+o) - 8.5 s 7
8. J
Yeneas (21E0) -6 o _(35,7)
5) (3,9)&(9,3) 3+9 9+3) - 6.6 10. (3,55
6) 2+4 3+2 1. (3.5,4.5)
(2,3)&(4,2) ) = (3,25)
» (55,5.5)
7) 5+8 0+8
(5,0)&(8,8) ) = (65,4)
8 (1,9)&(2,5) 142 9%5 ) = (15,7)
) (2,4)& (5,10) 2+5 4+ 10 ) = (35,7)
10 (4,1)&(2,10) 42 1+10 ) = (3,55)
11) 1+6 4+5 B
(1,4)&(6,5) S ) = (35, 4.5)
12) (10,10)& (1,1) (10;1,1051) = (5.5, 5.5)

1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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JL_

Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve Anai N\
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
3
formula . 3,
11, 4+8  5+1 SH
1
: (5.7)&(4,5) >
2) 6.
(2,10)& (2,10)
7.
3)
(1,7)&(6,6)
8.
4)
(10,2)& (4,7) 9.
5
: (5,3)&(7,0) 10.
6) 11.
(3,8)&(0,0)
12.
7)
(1,9)&(3,7)
8)
(8,10)&(6,4)
9)
(5.3)&(8,8)
10)
(4,6)&(2,1)
11)
(9,9)&(8,9)
12)
(0,6)&(6,10)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (4.5,6)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (2, 10)
? and (8,1), plug the values into the midpoint S
formula . s (35,6.5)
11, 4+8  5+1 )
\_ 2 ., 2 >J|ls _(7,45)
Y (5,7)&(4,5) 5;4,7;5) = (45,6) 5. (6,15
, 15,4
2 (5 10ya (2,10 2;2’10-;10) PR 6. _ ( )
_ 2,8
3 (1.7)2(6.6 1+67*0 Y _ (35,65 7 =
(1.7)&(6,6) (—5——— ) = (35.69) . 7.7
4) 10+4 2+7  _
(10,2)&(4,7) (5 ) = (7.49 0. (65,55)
Y smaro (150 - 619 0. (3,35
11. (85,9)
® (3.8)(0,0) 3;0,8;0) - (15, 4)
3,8
D 1 ove (s 7 143 9+7 v _ ., 4 =
(1,9&(3,7) (5 ) = @9
8) 8+6 10+4 B
(8,10)& (6,4) s ) =@
9 (5.3)8(8.8 °*83%8 Y _ (65,55
(5.3)&(8,8) (——— ) = (65,55
10) 4+2 6+1 a
(4,6)&(2,1) (— ) = (3,35)
11) 9+8 9+9 B
(9.9)&(8,9) (——— ) = (85,9
12) 0+6 6+10 B
(0,6)&(6,10) (- ) = (3,8)
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C:# Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve Anai N\
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
3
formula . 3,
11, 4+8  5+1 SH
1
) (8,6)&(3,10) 5.
2) 6.
(8,7)&(8,5)
7.
3)
(2,5)&(2,6)
8.
4)
(10,7)&(3,0) 9.
5
) (8,10)&(7,3) 10.
6) 11.
(3,7)&(10,0)
12.
7)
(1,6)&(10,3)
8)
(1,1)&(1,9)
9)
(3.4)&(7,9)
10)
(1,0)&(2,1)
11)
(4,8)&(10,10)
12)
(2,2)&(3,8)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (5.5,8)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (8,6)
? and (8,1), plug the values into the midpoint S
formula . 3 (2,5.5)
O > 4+8 5+1 )
\_ 2 ., 2 > )|+ _(65,39)
D (8,6)&(3,10) (8;3,6+210) = (55, 8) 5, _(7.5,6.9)
2 8+8 7+5 6. (6.5,3.5)
) (8,7)&(8,5) ( ; , ; ) = (8,6)
. (55,45)
3) 2+2 5+6 \ _
(2,5)&(2,6) ( S ) = (2,55) ) 1.5
4 (10,7)&(3,0) (10;3,720) = (6.5,35) 0. (5,6.5)
) (8.10)&(7,3) (8;7,1053) - (75,65) ._(1.5,0.5)
1 (7,9
® (3.7)2(10,0) (3+210,7;0 ) = (65.35)
12. (25,5)
L (1,6)& (10,3) (1+210,6;3) = (55,4.5)
8) 1+1 1+9 y _
(1,1)&(1,9) > ) = (1,5)
D (3.4)8(7.9 3+74*9Y | (5.65
(3,4)&(7,9) (5= ) = (5,65
10) 1+2 0+1 a
(1.00&(2,1) (- ) = (15,0.5)
W (4.8)& (10, 10) (%,8210 ) = @.9
12) 2+3 2+8 B
(2,2)&(3,8) TT) = (25,5)
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C:# Finding Midpoint Based on Coordinates

Name:
Find the midpoint of the set of coor dinates. Answers
Ve DR N
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
formula . 3,
11, 4+8  5+1 SH
1
: (0,0)&(6,3) >
2) 6.
(3.1)&(2,3)
7.
3)
(7,9)&(8,5)
8.
4)
(5,0)&(8,8) o
5
) (5,3)&(6,10) 10.
6) 11.
(5,5)&(9,4)
12.
7)
(4,8)&(3,10)
8)
(6,8)&(8,9)
9)
(4,5)&(7,10)
10)
(5,0)&(9,8)
11)
(9,9)&(7,10)
12)
(5.5)&(8,7)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 111121 8] 0




ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula o \
A T e T‘r:emldp0|nt|sat(6,3). L (3’1.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (25, 2)
? and (8,1), plug the values into the midpoint S
formula. (631 s (75,7)
11, 4+8  5+1 5
& 2 ., 2 y 4 (65,4
Y 0.0aen (2822 - ey s (55,6.5)
6. (7,45
? (3.1)&(2,3) 222) = @52
(35, 9)
3 (7.9)&(8.5 7+89%5 Y _ (75,7 ’
(7.9)&(8,5) ) = (15.7) . (7.85
4) 5+8 0+8
(5.0)&(8,8) ) = 65.9) o (55,7.5)
® (5.3)& (6,10) 5;6,3+210) - (55.65) o (7,4)
1. (8,95
® (5.5)8 (9, 4) 5;9,5;4) - (7.45)
7 12. (6.5,6)
4+3 8+10
(4,8)&(3,10) > T ) = (35,9
8) 6+8 8+9 \ _
(6,8)&(8,9) > ) = (7,85)
9 4+7 5+10 \ _
(4,5)&(7,10) BT ) = (55,7.5)
10) 5+9 0+8 \ _
(5,0)&(9,8) T ) = (7,4
11) 9+7 9+10 \ _
(9,9)&(7,10) S ) = (8,95)
12) 5+8 5+7 \ _
(5,5)&(8,7) R ) = (65, 6)
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve Anai N\
( Midpoint Formula The midpoint is at (GQ
X1+X Y1ty A 1.
2 , 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint S
3
formula . 3,
11, 4+8  5+1 SH
1
: (7,8)&(9,1) >
2) 6.
(6,8)&(0,10)
7.
3)
(4,10)&(7,5)
8.
4)
5
) (7,0)&(3,0) 10.
6) 11.
(1,9)&(7,3)
12.
7)
(8,3)&(3,9)
8)
(10,1)&(7,4)
9)
(1,5)&(7,0)
10)
(0,0)&(6,8)
11)
(6,0)&(10,4)
12)
(5.6)&(5,8)
1-10 | 9283 75|67 [58[50] 4233|2517 |
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ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A Ry, T T‘r:emldp0|nt|sat(6,3). L (8,4.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. 3,9
? and (8,1), plug the values into the midpoint S
formula . 3 (5_5’7_5)
11, 4+8  5+1 o
\_ 2, 2 *J|s _ (7.6)
Y (7.8)8(9.1) 7;9,8;1) = (8,45) 5. (5,0
6. (4,6)
2) (6.8)&(0,10) 6+0 8+10) - 3.9
7. (55,6)
X (4,10)& (7,5) Sl 1O+5) = (55,75) (85,25)
8. -y L.
4) 8+6 4+8
(8.4)&(6,8) (———— ) = (7.9 o (4,25)
> (7.0)&(3,0) 7;3,020) - (5,0 0_ (3,4
6) 147 9+3 \ un_ (8,2
(1,9)&(7,3) R ) = (4,6) 5
12. y
7)83&39 8+33*9 Y _ (55.6
(8.3)&(3,9) (——— ) = (55.9)
8) 10+7 1+4 B
(10,1)& (7,4) ( T ) = (85,25)
9)15&70 1+75*0y _ 4 25
(’)(1) 2’2)_(!')
10) O+6 0+8 3
(0,0)&(6,8) (—H—— ) = (3,4)
11) 6+10 0+4 3
(6,0)&(10,4) ( S ) = (8,2
12) 5+5 6+8 3
(5,6)&(5,8) TT) = (5,7

1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0




	 1
	Worksheet
	Answer Key

	 2
	Worksheet
	Answer Key

	 3
	Worksheet
	Answer Key

	 4
	Worksheet
	Answer Key

	 5
	Worksheet
	Answer Key

	 6
	Worksheet
	Answer Key

	 7
	Worksheet
	Answer Key

	 8
	Worksheet
	Answer Key

	 9
	Worksheet
	Answer Key

	 10
	Worksheet
	Answer Key


